Projectile Motion

We can use parametric equations to describe the motion of an object.
We can specify not only where the object travels, its location (x,y) but also when it gets there,
the time t.

Equations of the path of a projectile fired at an inclination, 6 to the horizontal, with an initial
speed vy, from a height h above the horizontal are:
X = Vo cos (0) t y=-1/2gt? + vosin(@)t+h

where t is the time and g is the constant acceleration due to gravity (approximately 32ft/s? or
9.8 m/s?).

Example:
Suppose that Josh hit a golf ball with an initial velocity of 150 ft per second at an angle of 30
degrees to the horizontal.

a. Find parametric equations that describe the position of the ball as a function of time.
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f. Simulate the motion of the golf ball on the graphing calculator, in parametric mode.
Sketch the graph, record the window, and check your answers on the graph.
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